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BEZDH *x W -
L 5 -
F -
2 [ —~
N F -
VHDE Z & -
DoSEAR a 2,488 86.9 13.0 0.1 -
EEDPDHELED E E -
/S‘(L\j;}?" {Zl-: ’ﬁ -
OIS i [ -
ADEL m 5
249tH) E W -
= H 1 53.8 46.2 - -
W 3 80.6 - 19.4 -
E E 4 58.0 42.0 - -
Z & 20 47.4 52.6 - -
= 257 95 65.2 23.1 2.2
N F 285 13.8 63.2 21.0 1.9
/S\<UU% *ﬂ E -
SLED *x B 3,734 82.6 14.4 2.7 0.3
SAHBLN m 5 -
ASIHEED F I 27,964 88.0 11.0 0.9 0.2
ASTHH F ¥ 49,052 83.0 14.7 1.9 0.4
SoKYAC i & & 2,113 85.9 141 - -
EEE E W 4197 90.1 9.8 0.0 0.1
T EZANEY 5 m 1 - 100.0 - -
roLA L B 4 100.0 - - -
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LfE1938 B2 X -
IZLLABL x W 766 85.3 84 5.0 1.3
m K 40 90.9 9.1 - -
g B 50 96.7 2.4 0.9 -
N F 856 86.2 8.1 45 1.2
2xXHE E 279 81.6 18.4 0.0 -
ZLDPSH it & & 772 94.6 5.4 - -
IELFES i & & 11 100.0 - - -
R a8h B B -
FoMmYA g & 10 100.0 - - -
IZIZIZDFE a Ji 1,888 81.3 16.8 1.2 0.8
FOT6HHE 52 F -
B 5 72 84.3 105 5.2 -
*x W -
g N 1 - 100.0 - -
g H 207 55.2 411 3.7 -
£E % 13 - 100.0 - -
% H 69 8.9 65.4 25.7 -
m 2 - 100.0 - -
E E 52 19.1 61.7 19.2 -
m B 19 31.7 68.3 - -
N F 437 45.2 45.7 9.0 -
ELNOMY | -
EJRIOY)) B B 10 228 77.2 - -
FoLLH g & 36,443 91.3 7.1 1.4 0.2
WIL=3# Z & 2 - 100.0 - -
KUK E -
m 1 100.0 - - -
N -
N F 1 100.0 - - -
FHEELTH R 1,411 69.5 30.4 0.1 -
=E238 = = 1,465 67.2 31.6 1.2 -
HAZDZH = = 4,041 89.9 8.4 1.6 0.1
HZDD D = = 407 51.2 47.3 1.0 0.4
HG HVHH B 10,181 78.9 19.8 1.1 0.2
InfEES w2 14 100.0 - - -
T B 101 60.4 17.3 22.3 -
I E 116 65.4 15.1 19.5 -
SXHRFHS B2 X -
HTZDIESE R 696 85.9 14.1 0.0 -
# %358 L -
HDOUVHY Bm B -
x W -
m K -
B E -
F E -
R -
E W -
a -
= H 2 100.0 - - _
g B 14 81.7 - 18.3 -
B M| -
Z A 5 100.0 - - -
= = -
% ' -
E E -
7 -
Z B -
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o - % & i E3

& i E i “w 3 = = RERE R
HDOUVHMY (DDF) BB XK -
N -

N F 21 87.8 - 12.2 -
HEYE | -

3 B 16 84.7 15.3 - -

N F 16 84.7 15.3 - -

SRT7YE g B 6 93.9 6.1 - -

o 837 72.0 20.7 6.5 0.8

M F W 4 76.7 23.3 - -

N F 847 72.2 20.6 6.4 0.8

AL Hh T A 74 59.3 40.7 - -

HDIZLE Iz B 2 - - 100.0 -
FYo<L 2 [ -

H DY) DI = =B 1 100.0 - - -
HDY DFE = =B -
ENF—1—> 5 F -

= W 1 100.0 - - -
o= -

w2 127 91.9 2.4 5.7 -

m= B 264 79.1 20.3 0.7 -

*x B 2,637 86.3 11.9 1.7 0.0

m K 449 93.5 6.3 0.1 0.0
BB -

wm E 130 30.1 68.8 1.0 0.1

F E 650 91.8 8.2 - -

oon 994 315 61.7 6.0 0.8

E W 1,351 91.1 8.9 0.1 -

a 426 72.8 26.6 - 0.7

= H# 245 97.2 2.7 - 0.1

W 2 100.0 - - -

£E % 327 93.9 6.1 - -

g B 236 28.7 67.1 1.8 2.3

B M| 247 84.9 14.8 0.2 -

E A 631 6.0 84.5 9.3 0.2

= = 395 43.6 54.9 15 -

o8 1,234 49.8 47.9 1.9 0.4

W 176 60.3 39.7 - -

E E 123 55.8 43.2 1.0 -

E W 24 12.2 87.8 - -

& 6 - 100.0 - -

7 60 57.2 36.1 6.7 -

L B 315 87.9 11.9 - 0.2

W o 11 334 59.6 7.0 -

m B 15 36.0 51.1 85 4.4

= AN 165 15 84.5 13.8 0.2

= [ 77 38.3 59.2 2.5 -

BB K 179 69.8 23.9 6.1 0.2

X » 7 24.7 54.4 20.9 -

B I 262 741 24.0 1.9 -

R B 196 2.9 88.5 8.6 -

I E 11,959 67.0 30.4 2.3 0.2

SLF—YT— F E 2 - 100.0 - -

oA 5 75.4 18.6 - 6.0

INE 7 55.5 40.1 - 4.4

LX) R W | 8 - 100.0 - -

g B 1 - 100.0 - -

i 0 - 100.0 - -

M W 1 - 78.6 16.7 48

-22-




(B b, %)

o - % & jud S

& i E b “w 3 = = RERE R

SILE—ToBAR(DDE) M E 10 - 97.4 2.0 0.6
LYZI% g & -
OOFFEN g & -
OoLIENE E E -

HAZLVE % H 3,140 79.9 19.7 0.5 -

BHAHDY 5 F 51 100.0 - - -

= W 266 72.9 26.9 0.1 -

M M| 6 98.1 - - 1.9

W 118 68.0 32.0 - -

*x W 21 6.0 - 94.0 -

F E 456 90.6 7.2 0.9 1.3

I E 920 81.2 15.5 2.6 0.7

ZDESA B2 X 153 9.6 83.2 7.2 -

L2955 T 458 91.7 8.3 - -
PELEDHSL R -
W o -

N 109 - 78.9 21.1 -

I E 109 - 78.9 21.1 -

PENLTK R 31 53.5 46.5 - -

<keAhY) = = 5 61.9 23.8 14.4 -
M o W -
g H -

N F 5 61.9 23.8 14.4 -
p>5t1r21 m B -

*x W 1 100.0 - - -

m K 314 94.6 5.4 0.0 -

% E 7 100.0 - - -

F E 65 28.8 71.2 - -

E W 343 80.9 17.6 15 -

a 81 98.5 15 - -

% H 78 71.4 17.0 115 -

£ & 3 100.0 - - -

N F 893 82.9 15.5 1.6 -
phY DEE £ E -
WEHEDH 2 F -

PpEIHAH i & & 58 87.7 12.3 - -

WEDFE R 814 43.7 48.7 75 0.1
pED (T4 g & -
ENiE it #E & -
PEDHS H i & & -

pEUMY i & & 52 98.0 20 - -
WELF Y = W -

EEAL w2 5,262 98.0 2.0 0.0 -

WEAFE o B 21,183 65.2 31.9 2.6 0.2
22—k B -

=\ (Fy TR 26 100.0 - - -

P &HEHEIH B 294 88.7 11.3 - -

WHEILZ  H 446 76.9 23.1 - -

WDHMEZ F ¥ 5 74.9 25.1 - -
2206 = W -
o= -

w2 4 100.0 - - -

E B 14 74.8 25.2 - -

*x B 37 74.4 25.6 - -

m K 4 100.0 - - -

F E 2 100.0 - - -

R 5 - 100.0 - -

E 1 39 100.0 - - -




(BB b, %)
& wo| @ o3 # ==
2 % 3 F |HAEHN
2225 (DD%) n 44 8.2 - -
H 6 6.5 - -
¥ -
B 7 - 100.0 -
) 412 25.1 0.7 -
= 372 51.4 - -
#n 26 12.7 - -
= 10 - - -
B 981 32.6 1.0 -
D &HTOH 5 -
ZL9< = 1,650 50.1 2.3 1.1
W&HLIED g 113 1.9 - -
=<l 2 [ 14,897 80.2 6.3 0.3
ZNE B 9 - - -
£E & -

g5 -

7 -

L 5 -

N -

N B 9 - — -
XA X -

WwHUI=5 *x W 1,189 33.8 9.6 0.1

B -

N Ft 1,189 33.8 9.6 0.1
pHUY it & & 34,654 6.9 0.7 -
weHE-DOY 5 23 13.6 - -

2 A 91 30.6 21.3 -

N F 113 27.2 17.1 -
WHHDF ) 19,601 9.8 0.6 0.3
ZHHLD = 10 29.2 - -
FSEEA % 585 40.2 10.8 0.7
LA fit] -

2 _

lli%t: _

R B -

it -
L—%65 5 756 22.7 0.2 -
HHA Z 2 100.0 - -
E O T Hi 1,632,670 28.1 3.4 0.5
#a % = 1,651,339 28.1 35 0.8
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(2) KFEbHbZRAK

(BAfL: b2, %)

o - & & ke &=
o E B YT E 2 %2 [ 3  [BEAR
EEA B M -
HMYEH i & 451 10.0 89.4 05 -
& 5 F -
o= -
w2
B B - - - 100.0
(1T -
=g —
N B 3 - - - 100.0
7 AIAEF 7 & 3 86.5 135 - -
HILELD B B -
245 a 304 479 1.0 8.7 42.3
FRAEF g -
hINETF 5 F -
hISEF E W -
A 269 74.7 22.3 1.7 1.3
2 H 284 91.3 57 2.8 0.2
N E 553 83.2 13.8 2.3 0.7
BDFEH i & & 858 99.7 0.3 - -
=5 I -
E-DLHIE i & & -
=-5<4HH i & & 3 - - 100.0 -
EpELE i & & 623 95.9 4.1 - -
=HRDIEE o H 77 11.5 83.7 48 -
=Rh(FEEL m K 2 55.2 448 - -
EhAUEE I B 18 - 100.0 - -
ILFHAETF F 1 - 100.0 - -
= R -
N F 1 - 100.0 - -
HERESS B -
_hhtb 5 F 20 92.3 7.7 - -
M B 19 3.2 90.6 6.1 -
(1T 23 88.4 11.6 - -
B B 311 78.3 20.4 1.0 0.3
*x O 1 - - 100.0 -
R 8,381 50.5 458 3.1 0.6
E W 51 12.9 68.4 6.8 11.9
[T 3 - 100.0 - -
INE 8,808 51.3 450 3.0 0.6
Ja3/IEF g B 4 - 87.9 12.1 -
E A 20 17.4 41.7 40.9 -
E R 141 53.7 40.8 55 -
3 35 - 83.3 15.7 1.0
L B 124 4.4 50.3 452 0.1
INoEt 324 26.1 49.7 24.1 0.2
—tb5F5 = W 6 - 100.0 - -
—ELL & 271 88.2 9.1 2.7 -
YAIA1EF = A 2 - 95 90.5 -
EALE W 16 - 61.0 39.0 -
IDFEFEL P -
SDFHELD BE R B -
SDFELD BE R B -
SDFELDL P -
BEP_ERE B 45 35 81.2 15.3 -
il g & -
+E1%RE B A 0 - - 100.0 -
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s = & & ke &=
& i E i w3 T = > = 3 2 (B R
=IEXS a 340 28.8 24.9 8.7 37.6
HRIERE E W 354 75.3 23.3 0.8 0.6
a 5 45.3 48.8 - 5.9
2 H 2 100.0 - - -
N E 361 74.9 23.6 0.8 0.7
HR=EE W B 1 - 76.2 23.8 -
it E W 1 - 100.0 - -
IBH5MEH i m -
=hPpFELH g B 590 71.6 17.8 9.7 0.9
=-2Z3b W | 4,335 46 94.6 0.8 0.0
1T 63 79.1 20.9 - -
N E 4,398 5.6 93.6 0.8 0.0
=F0HE5 = AN -
BOFIADETF E F 77 99.6 - 0.4 -
YEXIEF F OE 8 - 41.1 9.1 49.8
ThDtb w2 156 74.3 25.7 - -
LEHEEL # H -
EBBEMD = W 889 89.6 10.4 - -
[F<BL£5EB it # & 775 95.7 43 - -
INGNETF g m 0 16.7 83.3 - -
FVELED E & -
ETIETF B2 0 36 0.5 83.8 13.4 2.4
k=B 35 234 70.2 6.3 -
N B 71 11.9 77.0 9.9 1.2
EA/EF "2 F 4,493 90.6 74 15 0.5
T W 0 - 100.0 - -
(1T 3,444 72.2 23.3 3.7 0.8
Bm B 196 94.2 5.8 - -
*x W 125 74.3 19.9 5.8 -
7R N 4 69.7 30.3 - -
F E 4,067 89.1 9.5 1.4 0.0
E B 21 100.0 - - -
% B -
B W 233 78.5 20.4 0.9 0.1
E R 450 40.4 4715 1.9 0.3
2 313 6.9 83.3 9.2 0.6
L B 430 61.1 36.2 1.3 1.4
N F 13,776 80.8 16.3 25 0.4
E3VEF T 4 -
= B -
oA -
= M -
t B -
£ I’ -
N -
NI -
INEE -
SEDEHE F E 367 66.6 27.3 5.3 0.8
IUTIETF *x W 136 40.1 52.5 6.9 0.5
F E 89 49.4 45.0 5.1 0.5
% B 4 29.9 70.1 - -
k E 23 - 85.5 14.4 0.1
W o 4 82.8 16.4 - 0.8
INoE 255 40.2 52.5 6.7 0.5
FASKES BB -
SacEF 5 13 - 86.2 13.8 -
B saE AN -
ENELL w E 4 28.2 53.7 18.1 -




(Eifss
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o s = & & ke &=
" ER R % (2% [0 % [mEn
BDELL (DDF) F %E 1,401 80.1 13.4 6.5 -
g N 22 100.0 - -
&% [ 200 76.6 20.0 2.8 0.6
# =B -
& R 16 68.9 31.1 - -
N 468 21.6 64.3 14.0 0.1
BERB 23 - 85.3 135 1.3
N F 2,135 66.1 26.0 7.8 0.1
HPTHhhED R 306 32.8 63.7 35 -
SVATETF W a -
B = H -
HAZES 52 F -
1L50HMY E % 100 77.2 21.0 1.8 -
HEAN = F 125 96.1 39 - -
EFI/Y m K -
g B 24 - 95.1 - 49
o oW 3 - - 90.9 9.1
m 5 4 9.2 24.4 42.9 235
L 0 - 100.0 - -
INE 31 1.1 71.8 13.7 7.4
15098 R -
EYEUETF E % 9 100.0 - - -
YoOEF 5 R -
[ 1 - 100.0 - -
B 1 - 100.0 - -
ILfZFE 1285 T 46 100.0 - - -
YIIOETF E E 8 2.2 348 63.0 -
AclbE 3, 5 F -
M | -
A Et -
pEHDL) o8 2,813 6.4 72.2 20.6 0.9
LWL\ £585 E W 23 92.0 8.0 - -
hi=1F5L ) 10,137 59.5 34.8 4.6 10
E O & fE # M it 50,177 58.2 36.4 43 1.1
# i s £ = 51,603 58.0 36.2 4.4 1.4
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Al A 179 - - 89.3 9.7 1.0 -
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N 0 - - 100.0 - - -
—FaiE X 9 - - 100.0 - - -
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WZLZDE K -
BENE 57 -
G = 22 - - 90.1 - 9.9 -
P E w2 37 - - 76.8 - 23.2 -
HE2965 & # -
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BNE E B 2 - 49.2 50.8 - - -
BLUFEN B HF 19 - - 425 57.5 - -
T BT F OE -
X B -
2 -
L 5 -
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B M@ -
N -
INE -
1 LU £ R 454 - 0.8 98.5 0.7 - -
N B HEET E & -
HRER o= 18 - - 35.3 64.7 - -
(1T 21 - - 100.0 - - -
B 3 - - 100.0 - - -
N E 42 - - 72.4 27.6 - -
B/ \ iR 5 0 - - 100.0 - - -
RBF = 14 - - 12.6 58.5 28.9 -
HDiE = 94 - - 55.8 315 12.7 -
HDE 5 46 - 3.2 424 43.1 11.3 -
K E3i] -
=1-L3< b 3 86 - 12.3 85.0 2.7 - -
& ] 8 - - 100.0 - - -
HDE ] -
ROE1S =2 -
1B EIEF 7 & 14 - - 100.0 - - -
FAHED 2 F -
BEAMN 52 F 80 - - 95.1 49 - -
XY= [T -
3 -
' B -
B M@ -
[N -
N -
INE -
D # H 59 - - 73.6 26.4 - -
BNE = A 77 - 1.6 10.6 72.0 14.4 1.4
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BRE % B -
EHER E % 26 - - 100.0 - - -
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R 7 & 11 - - 100.0 - - -
= [T 3 - - - 100.0 - -
E B 672 - - 75.5 24.1 0.4 -
*x B 44 - - 93.3 6.7 - -
w K 211 - 33.6 56.5 6.8 0.1 2.9
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m E 19 - - 96.4 - 36 -
F OE 80 - - 77.9 21.0 1.1 -
S 6,717 - 0.4 70.7 26.8 2.0 0.2
E W 1,775 - - 90.8 8.8 0.4 -
a 692 - 7.2 86.3 5.1 0.1 1.2
E H 1,568 - - 94.2 4.0 1.3 05
g B 10 - - 49.7 19.1 28,5 2.6
B [ 22 - - 80.6 19.4 - -
= = 77 - 52.6 16.9 28.7 1.8 -
WA 127 - - 28.4 19.7 51.9 -
X B -
E E 650 - - 36.9 49.3 13.2 0.6
M ;oW 10 - - - 100.0 - -
B W 67 - 1.9 325 63.1 2.5 -
& 409 - - 63.0 28.0 8.6 0.4
WA -
N 15 - - - - 100.0 -
N E 13,168 - 1.4 74.2 21.2 2.9 0.3
71345 H =B -
FAERDE [T -
L& 5 iR 93 - - 53.3 38.0 8.7 -
IHDE B B -
SHhIFEN & # -
EERE T 77 - — 92.8 - 7.2 -
ST HE B E 11 - - 88.3 - - 11.7
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IR E F 85 - - 100.0 - - -
L9 <& Z B -
ESRE 2 M -
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=E] E E -
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i B H -
E E -
BE K -
INE -
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N L B -
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E -
E & -
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BEEN E & -
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Ex [T -
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VESTH 7R N 59 - - 96.8 - 0.1 3.2

o 136 - - 100.0 - - -
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= =
# E - - 448 55.2 - -
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E O & f#E % M it 23,076 0.0 4.4 75.5 17.4 2.4 0.2
e R = M = 23,395 0.0 44 74.6 18.0 2.6 0.4
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